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(&t &)

= = |l = H S X = 2 Hak 2| &
ol Al & X 1,000 - - - 1,000
U= ST 6,017,314 -l 6,017,314 - -
Hl 2 22,158,573 700,000 -| 11,514,065 11,344,508
=] 28,176,887 700,000/ 6,017,314 11,514,065 11,345,508

A71)

(21 &)

= ol x Hs = 2 Ohar 24| ol
ol Al & X 13,626,385 - -| 13,625,385 1,000
e | 67,623,109 -| 56,662,610|  4,943,185| 6,017,314
Hl = 39,946,913| 2,643,000 -| 20,431,340 22,158,573
=] 121,196,407  2,643,000| 56,662,610 38,999,910| 28,176,887
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577,037,200

(@71

(= M=)

e A HOIXH=(% =N
SHAZMIA(F) 12% 1,001,666,534
QUL 12% 33,333,352
(ZF)HIEER 12% 518,749,929
CYLEE 12% 39,583,351
SEE 12% 68,749,985
A0ICHE 12% 83,333,316
& 1,835,416,467

A71)

(= M=)

XA HOIXH=(% =N
SHAZMIA(F) 12% 1,095,833,249
QUL 12% 33,333,324
(F)HIEER 12% 524,999,952
CYLEE 12% 74,999,988
SYU= 12% 58,333,320
Al0|CHE 12% 33,333,324
& 1,820,833,157
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@71

(Etl: &)

PRI HO|KH=(%) =i
SHEIM| 2 12% 425,694,608
(FHIEXL 12% 122,916,826
SYOHE 12% 15,277,819
A0ICHE 12% 30,555,594
DBEGHE S 4% 36,360,000
oL B S 4% 110,980,000
Sralad 4% 84,590,000
=] 826,374,847

A71)

(Sl &)

PRI HO|KH=(%) =i
SHEIM| 2 12% 744,444,490
=yl 12% 33,333,352
(FHIEXL 12% 443,750,076
SYOHE 12% 46,527,802
CYAt= 12% 39,583,351
ADICHE 12% 38,888,906
DBAYH 5% 93,310,000
DBEGHE S 4% 17,130,000
oL B 4% 71,610,000
Sralad 4% 66,700,000
=] 1,505,277,977
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(3) B719F 77| = EFBAIRe &, vl 5 A g2 b3 25Uy
(7D
(B2 &)
3| AFH 1ESES e = TH T2
(Z)HOIEM T - 106,166,719 - -
TO|A - - - 788,250,425
(A7)
(B2 &)
3| AFH 1ESES e = TH T2
(Z)HOIEM T - 601,879,107 - -
TO|A - - - 577,037,200
12. HelA &
A= ARb7IA A7 ol o8k FA71He] s AIA el Ui S uhet i
A T2 HAMY 52 P ofsto] FHalojof & FAH o= AAstar JFU T
13. A & =
7S AA GAE deE =29 T4 E 150 = 10,000,000 % 500¢ ©]
w g A= B ESF2 4,001,00050] a1 e R} 2,000,500,000¢ 1Y o},
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G BHEF FedsaAl sy AU
(&l )
2= =] S
BEFO| S|l 3,115,784,491 3,812,713,788
HEXAIA 4,001,000 3,000,000
oAl 779 1,271
15. A&=FA 2 A AkA
H 121 2019¢ O1= 012 6 M 1171 2018E 01€ 012 2 H
20194 122 312 DX 2018 122 312 IHAl
HMelol&Y 20204 03 30Y HMelstd e 20194 03 30Y
(=)= =2 X AL C (2] @ &)
= M 12(2) 21 M 11(A) DI
|.OIHE0/LUH2(0IM2IZED) (14,931,811,309) (11,816,026,818)
1.&010182&23 (11,816,026,818) (8,003,313,030)
2. 20|02 (&4)) (3,115,784,491) (3,812,713,788)
.o HRIBE0| 0] - -
IREEG e - -
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T = =@ )
IR =C ssdE)IXE S UA 1,835,416,467 2,069,583,157
2SS OIK==2 & - 2,420,000

17. 27 Azbel B o s AR

8 A1e] vl Z 47} 9 goju)eh ek ule] EehE F7E Agel Bad AR

N gk gE Y

HE U= =) & D]
= 604,989,963 708,059,460
SESy= N0 86,126,595 92,055,785
=cl =44 132,046,291 162,215,781
INE=RE NN 114,943,802 91,842,949
& Jtab 2l 11,514,065 38,999,910
SRR 10,957,714 21,063,696
Nl = 3t S 0t 71,522,992 53,015,798
2 1,032,101,422 1,167,253,379
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